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26 ABCDE is a pentagon. Fidenieremen s
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Angle BCD = 2 x angle ABC

Work out the size of angle BCD.
You must show all your working.

(Total for Question 26 is 5 marks)
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The sum of the angles in any quadrilateral is 360°

For example, in a rectangle 4 x 90° = 360°

Zak writes,

Video created by W Neill

5 x 90° = 450° so the sum of the angles in any pentagon must be 450°

Is he correct?

Tick a box.

Yes

Show working to support your answer.

No

[2 marks]
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The sum of the angles in any quadrilateral is 360°

For example, in a rectangle 4 x 90° = 360°

Zak writes,

5 x 90° = 450° so the sum of the angles in any pentagon must be 450°

Is he correct?
Tick a box.

Yes / No

Show working to support your answer.
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